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Identify and arrange the following taxonomic categories in ascending order.

A) Hominidae B) Triticum
C) Spermatophyta D) sapiens
E) Primata F) Insecta

S0l $05CETRIENIoWO LTSN QoW TPAQ T TPEs oS eC0 ).

INER S B) Qs
C) & D) dand,
E) 2903060 F) =N
Options :
'« DABEEL
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Question Number : 2 Question Id : 7196501442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T

collegedunia:s

India’s largest Student Review Platform



Match the following lists:

List I List II

A) No sex organs, dikaryotic exogenous spores )] Gonyaulax

B) Infectious agents without nucleic acids I1)  Trichodesmium
C) Dafferentiated cytoplasm bloom i polluted water III) Shime molds

bodies
D) Fruiting bodies bearing spores, survive many years IV) Basidiomycetes
V)  Prions
& S0l DETLD BBOGWLW.

S | S TI
A)  SohirSalTron S, D§SeWETiNG 205rdRe LWEdzPw I) Foalres)

B) Rofdes s*050S Soldseeivo S50t &otady II) &ps@dade
C) Hendidd IS JEIEIP of)oled 2350TQ R0zt III) 2380 eoresens
D) adderen $OS DOTTrPL Gols ©IE Dodedyoren IV) £306c3r0esQ
28 owlied).
V) poteSen
The correct match 1s
QOTNS 23
Options :
A B L D
NPT . Vv 11 111
A B & D
o IV | 111 I1
A B C D
- V II I I11
A B i D
i I 11 IV Vv
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Question Number : 3 Question Id : 7196501443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

List I List II
A) Theophrastus I) By hybridization and genetic engineering
B) C.G.K.Ramanujam IT) Electron Microscope
C) Progress in floriculture and  III) Described the internal and external
forestry characters of plants
D) Knoll and Ruska V) Developed the science of pollen
&2 S0l DU BODOWs:
SEE 1 QST
A) AR 1) No¥Geio, 2303 B0 TeT
B) C.GK. oeasrdeso 1)) DO WK YO
C) IR, DA NSNS I10) S0E) © WElTg, ©o0) T°) 8 LETTPON
FPI0S” DO NS SINTORIRING
D) &0, 0¥, V) QRO(I0ER FPPIR), VL Y® VOB

The correct match 1s

DOGS 2285

Options :
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, & I I II IV
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I II I IV

Question Number : 4 Question Id : 7196501444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Cveas shows siphonogamous oogamy and zooidogamy.

Reason (R) :  The pollen grains are released and pollination is anemophilous. Pollen

tube carrying male gametes grow towards archegonia in the ovule.

QDI (A) 1 2R, T°9 DTS WoliDoTIrIadn SOOI eroNE R Wre)Eod.
52060 (R) © 007 Sewedhen LEIES, 003 o0y e300 TPANRT KoC) o P adotiol.

QD Docirtiedezren &), WOITeo 900505 éjﬁﬁ%“é@j}o %)
R,

The correct option among the following is
&1 508 DRYFUS DOTNI

Options :

(A) 1s true, (R) 1s true and (R) is the correct explanation of (A)
& (A) 20onI&, (R) Doowsd SH0050 (A) %0 (R) 088 wbdea.

1.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) SlowIR, (R) 2020038 520 (A) 8 (R) 008 2508 s°¢.

2. %

(A) 1s true but (R) 1s false
(A) S00NS& 3 (R) 00690088 5°60.

3. 8

(A) 1s false but (R) 1s true
(A) S0oNS& W R (R) SOonSe.

4. %

Question Number : 5 Question Id : 7196501445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List-1 List-11
A. Protonema 1 Useful in spore dispersal
B. Circinate venation 1 8 Coiling of young leaves in Pteridophytes
C. Elaters I11. Storage food in Rhodophyceae
D. Floridean starch IV.  Juvenile stage of Bryophytes

Vi Naked ovules

©2 S0l DIV BOIGWG:
IR IR | |
A DBOB0Y) 1 0@ederw g G DD
B. SOS80000 Hegen I SOEPERS 66 ST S8 Hotodd
C. aoo Il &S &S oy
D. FOGoDS F6y IV.  aotrpdrd a8

V. 285 womeen (569

The correct match i1s

OGS 23

Options :

A B C D

IV II I III

. v
A B B D
IV 1T 11 V

2 #
A B C D
o M I IV I
A B £ D
II IV V I

4 B

Question Number : 6 Question Id : 7196501446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlaa
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Correct Marks : 1 Wrong Marks : 0

Pneumatophores are found in the following roots of Rhizophora plant.

G270 S &2 IS 000EPeR oHobow.
Options :

Vertical roots

PO orP OO SQQSG
1, v
Underground roots
AVgToh SO
2. =
Still roots
&3 IO
3%

Hanging roots (Velamen)

Jeraod Jge°

Question Number : 7 Question Id : 7196501447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

A) Branches of limited growth modified for

photosynthesis

B) The peduncle is branched with one branch each

fime

C)  Multicarpellary. syncarpous unilocular ovary.

stony pericarp

D) Placenta is axial and ovules are attached to

multilocular ovary

S5 08 DETLD BHIG DS,

A)  S8mzdgrediriSaih A0S DALY TWwLD

ListI

e3s-1

LV

SraPolo WolD&0W

B)  Q&)Syoen AP al o S D8kl
C) 205TUDOSY, Dookng DERL ectIaie, Dodoeretd

DOESDe

D) 20305530508 @om=3oetS’ @okargio @8 oforr
ool TPIR Yokt WS LD GolPO

The correct match is

DTS 269
Options :
A B
I 111
], ®
A B
win 90 11
A B
., I

D

1I)

II0)

V)

V)

D

1)
)

IV)

V)

ListII

Cashew

Asparagis

Hamelia

Colocasia

Lemon

OEE-IT

TPINVIV

&0y 0% S
PN oh big
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Question Number : 8 Question Id : 7196501448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A The tip of embryonic axis emerges out first during seed germination 1s called
rachis.
B. In Artocarpus integrifolia, the fruit type 1s syconus, where the edible part 1s

succulent perianth.
C. In Pvrus malus, the edible part is false fruit.

D. Pepo fruit 1s developed from tricarpellary. unilocular inferior ovary.

000N ST ING VIRV WA

A D8S0 SHUSERSE B0l HoteEIP 2irdto ©aly PP DT gFEID

ol

B. €550 GodHO00e Sotdy Do SEI0 REID, St HErsm 5a50e K6

v
u@w

C. U5 0PS St S et ey S

D. SOOLT V00T &l WOOINE D) VoGl Do VT Do e eI,

Options :
A. B only
i A, B Jrd
B. C only
- B, C &g
C. D only
ik C,D g
A. D only
. A, D &g
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Question Number : 9 Question Id : 7196501449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The vegetative propagules are capable of giving rise to new offspring.

Reason (R) : The reproduction occurs with spores produced in large numbers 1n fungi.

QBYBIW (A) : PEON R FPOFLD BDND 5 FoOSA &S WAL
0D (R)  : 300rud 008 Jowgd &S S @ond )0 &°i0° D03 S wduthicuol.

The correct option among the following 1s

& S0l RW)SUS DOTLSE

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) P0oNIL, (R) LO®owIh 00w (A) S (R) 00« 20¢s.

1. ¥
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
2 (A) S0oNI®, (R) 200008 2 (A) B (R) 008 2508 5°6.
2.
(A) 1s true but (R) 1s false
(A) D00NISL R (R) DOowS&L =W.
3 R
(A) 1s false but (R) 1s true
8 (A) Q0ONIE W R (R) SOoS&.

Question Number : 10 Question Id : 7196501450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statement.

A) Several hormonal and structural changes are mitiated for the development of

floral primordium.
B) Each anther will have two sporangia at the sides.
C) Stomium will be useful for the dehiscence of pollen sacs.

D) Pollen grains can be stored at —196°C.

E) Pollen viability 1n rice will be 2-3 days.

OGNS TPgaT° gL (WO,

A) 38 QTP TrS, 8, TPG o 0P80y Sndiudtsed” QN Bargw ©8Syd wdLeR.
B) DS DOKI3HS” Toth LWIeFFTOITPL DX (P oHobrow.

C)  Fanafo Y6 Dowdie ¥ 3ess’ GOAPEIGEE 0.

D) oot Smedos —196°C &6 BSHBSSDY.

E) S0S" Hortidenah i Iwwsstiu #8 2-3 Swen fHotwol.

Options :

A. B. C only

A, B, C drgsan

A.C,D only

, A.C.D arg
C.D. E only

.o GDE SO
B.D. E only

.« B.D.E ROTORY

Question Number : 11 Question Id : 7196501451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What 1s Apomixis?

YWYV OF DD3?
Options :

Production of fruit without fertilization

HOBEGESD SEot HOSN 2SN

|, %
Production of seeds without pollination
L DoeHRoddy S0 S806e HGRrer 8
Production of fruit without pollination
L D0PER00G, S50 ST DuS 8
i
Production of seeds without fertilization
L Dubstn O%eme HSTW 0w
4,

Question Number : 12 Question Id : 7196501452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following books, characters of evolutionary importance were not
considered while classifying plants?
A) Species plantarum B) Families of flowering plants

C) Genera Plantarum D) Die Naturlichen plantzen familien

S Solo < ﬁoééﬁ&)@é S08) Ve ééﬁ@o&rﬁ@(ﬁ) OETPD W@“Ucﬁ) D056 BE S0 SEN?
A) :fio)f:}f.'} go&d& B) FPRO0 Y acﬂéﬁﬁ goésb
C) BAT® g"cdjéﬁ) D) & VOB gcaébaoéabé

The correct answer 1s

B[R VO a2
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A, D only

" A. D g
B. C only
- B, C g
B. D only
" B. D Srgso
A. C only
A, C orsd
4.V | @

Question Number : 13 Question Id : 7196501453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Using mathematic methods and computers, differences and similarities
between taxa can be studied and 1s called as numerical taxonomy.
Reason (R) : Primitive and advanced characters are recognized as evolution which may

be progressive or retrogressive.

DBYBSW (A) (S Y9 VW OGN Forgtod aNCIrHoDd (edQowdliNneg wimrwn
LB, FOEOD O e FPomgs S0E0ETRI0 Wolr .

O30 (R) : &80 S000IN DOHBD Wolded LEETLN, PR DOETPN0 3O TP TP S TP
2)00eeind Y (OGP ow.

The correct option among the following is

&2 S0l m@gs“ueﬁ‘ DOTIE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 560088, (R) H0an88 6050 (A) 8 (R) XS a8,
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(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) 2090WIR, (R) 0000I& 5 (A) K (R) 008 2588 s°¢.

2. ¥
(A) 1s true but (R) 1s false

. (A) D00NIL 2R (R) “O000IL 2.
(A) 1s false but (R) 1s true

. (A) JooNSE W 3 (R) oansd.

Question Number : 14 Question Id : 7196501454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill up the blanks with suitable words.

Schleiden 1 observed that all plants are composed of different kind of cells.

Schwann 11 studied animal cells and reported that plants have 11 and all

cellshave 1v ,and Virchow explamed that cells divide and form new cells from

v . This constitute w1
A) Cell theory B) Zoologist C) Existing cells
D) Cell wall E) Plasma membranes F) Botanist
PPLD VS VIS QPOoSD.

RES 1 awHod) 000 Ovu o’ DU)EHS) S0 H0IeRN. FyS i
20LVEPON VLIONNo W Sy Serew 11 S0Pk, @) Sarew IV 5O Do
EDTIH. A Sren Ve Dod §'S oD DS 50F0ND DS0oDD. 8O Vi

§ BrHEONS.

A) Serdwredo  B) 230€0 F°R9IE ) ©o®R YPOIBNT) Serew
D) NI GY E) PFYLrS F) Sy FR9IS
Options :
1 11 111 v v Vi
B F E D B A

|.ﬁ
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1 11 111 v \' Vi

58 F B E D A C
i il 111 v v Vi
A B C D E F
3. %
1 i1 111 v v Vi
F B D E A
4.

Question Number : 15 Question Id : 7196501455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements from the following:

A) In a polysaccharide chain, right end 1s reducing end and left end 1s non-reducing
end.

B) In a protem, right end 1s a first amino acid called N-end and left end 1s called
C-terminal.

C) Concanavalin A 1s a drug used to cure cancer along with vinblastin and curcumin.

D) GLUT-4 enables glucose transport into cells.

808 RS’ DB P 3APZOR KoY.

A) ¥ FPOPROGE TS BEIR) D30 arPR) L0030 §° R, G §° PPy
E00EGg0 2R §7 wobr.

B) e85 Soth K06 5 St 08 6erd) EO N-6' 09, i S8 eothy o
Ya*R), 3O C-§S wotrl.

C) §OFSTOR A 0D TIBEW DFPRN O0KN ¥0p 350 IS FY6 agd Ao SD
SO AFE.

D) GLUT-4 9088 Sros' (rs's St 576 0D.

Options :

A. B only
A, B S

%
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B. C only

- B. C &rgdad
C, D only

- C, D Srga
A, D only

L A, D g

Question Number : 16 Question Id : 7196501456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following statements on meiosis in a correct sequence.

A) Terminalisation of chiasmata

B) Dissolution of synaptonemal complex
C) Homologous chromosome separation
D) Appearance of recombination nodules
E) Pairing of homologous chromosomes
F) Disappearance of nuclear envelop

& 800 argargoes’ ot Da5ReS SolO S DO Eidots" @y
A) S0P Wl VBELG

B) Aor¥dSd Dofiie S0NFHE

C)  Deoeres §IPFDOL DESEE

D)  3)edeciress e GRen 8 3Ee

E) Rderdod §Irrdown edidnd

F)  So5583S0 ©9o890nSaa)e

Options :

) A DB P B
1.

& E.D.B. A F.C
e« LECDER

A.B,D.ECE

Question Number : 17 Question Id : 7196501457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which is the living mechanical tissue i plants?

008 0 OB WErorR), SR BSEeErUSD &?

Options :
Parenchyma
NPATAVILARS TN
1. %
Sclerenchyma
ARG
2.
Collenchyma
MOV LS BINY
3./ 2
Xylem
™ O0)

Question Number : 18 Question Id : 7196501458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Estimation of the age of the tree by counting the number of annual rings 1s
called “dendrochronology™.
Reason (R) : Periderm is formed by the association of Phellogen. Phelloderm and

Phellem.

DBYSS0 (A) : FOE SOOPL GErSorr Iy WTPE) SONYD S8 0wdadDd Bos mrues
o,
slaso (R) 1 2l HTES 00 duHow Suonis” HOBELSN D8y,

The correct option among the following 1s

&8 S0l DTS DOTNIE

Options :
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(A) 1s true, (R) is true and (R) 1s the correct explanation of (A)

(A) $6600S8, (R) 0080086 0050 (A) % (R) 988 2586,

|.ﬁ

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) J00NIR, (R) 200030 59 (A) 50 (R) 00~ 2808 5.

2. ¢

(A) 1s true but (R) 1s false
(A) S0OWSE =R (R) 000088 oM.

(A) 1s false but (R) 1s true
(A) V0oL W 2R (R) oSk,

4.3

Question Number : 19 Question Id : 7196501459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statements.

A) Pollinators play significant role in the production of food crops.

B) One of the threats to pollinators 1s habitat destruction by land use.

C) The climax community remain stable as long as environment 1s changing with
adoptions.

D) Secondary succession will be a slow process compared to the primary succession.

POFR TPgaP U (WOoLW.
A)  DTIReD0) DTrsOTn NP0 PRl GOS8 REES PG SrRTrow.
B) WP &OAFHowlio SUS RON WrITEINe VOMIeNC) FOFON g
ENGIARN
C) STOS) TSl VLR SHSEIE BSOS Srdyn WWEELe el o SOK
WG QTP ahobuol.
D) QIO NERNN, FPENE NFIEW STy S0y &P 200 PEAN.
Options :
C.D only
C.D &g

1. ¢
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A.B only
A, B Srgd

A, D only
A.D Srgd

B. C only
B, C &g

Question Number : 20 Question Id : 7196501460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill up the blanks with suitable words.

Ecosystem services are 1 understood. The value of ecosystem is larger than

11 . Many of these services are 11 services and cannot be  1v by anyone.

The ecosystem value 1s nearly v the globes GNP. The ecoservices are delivered by

Vi
A. Living stuff B. Poorly
C. Twice D. Non market
E. Global economy F. Owned
PPN N0 VWPLL” QPOoURSW.

€508 Do2vold VSN DoePSe 1 o WOk, wSTE SgS0 e i1 &) D80 L.

& RS WP SOK 111 vdew 0ok 1v 500, @060 S350 RSN WELRR)IP

2T 9% GNP oendH V . 806D aden M1 W AADeBodetOTow.

A S50 s B. &%,
. Sé3o) D. &0y & walgecdgd R
E. {0 eof S350 F. 3o
Options :
1 11 111 1V v V1
. B & B A E

~
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1 11 111 1V v vl

" F A D B 8
1 11 111 v v Vi
B E D F £ A
3. ¢
1 11 111 v v Vi
E B F D A c
4. %

Question Number : 21 Question Id : 7196501461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct order of statements regarding the translocation of sucrose.

A) Loading of sugars into phloem setup a water potential gradient that facilitates
mass movement in phloem.

B) Sucrose moves into companion cell and then to phloem sieve tube cell by

active transport.

C) A hypertonic condition i phloem facilitating water from the xylem into phloem by
OSIOSIS.
D) All sink sugars are transported out of the phloem producing high water

potential with returning of water to xylem.
E) With increase in hydrostatic pressure in phloem pressure flow begin and sap

moves through phloem.

W) O Paro0EEcd (rd s 5P g D00W §ieeS” Bodoudain.

A) FRE SeaeroSNG™8 D) Cew Wikl S A I8y a0 RANSr FRE Seeroos's
PORTPe WUKISETo @a)Eol.

B)  J8ON Q5o W358 DiPEeoS 08 WoS S FRETY Lo 8 ool

) FRE nerwod” @ PE DOVS U THHTR AD Karddde Sud ook,

D)  2CrH SooS W5y Sen JLuHOS HOLrelowitoon FNEEE erotS” w80y S
D o D6 B0 TEH OO BV,

E) Q% Seeruod oddE Lido Syb o Glo(sap) FRE Seeruo weyor Senol.
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Options :

o BRED AR
.o AGBIDE
ACD RBE
3 ®
E.B.C.A.D

Question Number : 22 Question Id : 7196501462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

ListI List IT List III
A) Fe 1)  Nitrogenase I)  Nitrate reductase
B) MO 11) Cytochrome C oxidase II) Automobile exhaust
£y € 11) Forest fires III) Formation of chlorophyll
D) NO.NO; 1v) Catalase IV) Redox reactions
&2 S0l 2SO BBDOW[N.
a0 | eredee 11 oo 11
Al FEe 1) ST eedes I) SEE oGsE
B) MO 1) WSS C ws\as II) S aPalPore oo e
0@*Qo
&) On 1)  ©HS vodoen ) §&oS Saird
D) NO,NO; 1v) 35&0= IV)  E0ir8y50es Ldgewn

The correct match 1s

OGS 2285

Options :

A B i D
i, I 1, 1T i1, IV w, II

1, ®
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A B C D
cx LI IO i I v, IV

A B ¢ D
" i, IT 1, II1 1, IV v, 1
A B C D
. 11 S | 1, IV 11, 11
4,

Question Number : 23 Question Id : 7196501463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The enzyme bearing E.C 2.7.1.2 is:

E.C2.7.12 508 a3y 90‘5_50:

Options :
Malate dehydrogenase

O Gr&asden

Glucose — 6 — phosphotransferase

§P§°a§ —6— a‘@a@?ﬁg;}a%@

2. &
Arginosuccinase
0S08NS
3, ® 5
Glutamine synthetase
p QJ"C’:J&’CD:% o@DEIR

Question Number : 24 Question Id : 7196501464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Photolysis of H-O and evolution of O> occur in the lumen of the

thylakoids.

Reason (R) : Oxygen evolving complex is located towards the lumen side of the

thylakoid membrane.

QBNBSW (A) @Us"wcﬂs E'R 0538S Fodd H0 2306 200 02 2E0&0H0D.
080 (R) | BUFQNGES” 0l535I%) w8180 HEN0 DR Do8R8D BHotwod.

The correct option among the following is

& S0l EQQE"U@S DOGSE
Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) $600ws8, (R) H000nse $0a%0 (A) % (R) H0S a8,

o, 4
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) L00WIR, (R) 000080 2R (A) 8 (R) 008 25088 °0.
2. H
(A) 1s true but (R) 1s false
- (A) 00oWIL R (R) 00000858 5060,
(A) 1s false but (R) 1s true
. (A) D0ONIA 200 2R (R) DOowsSk.

Question Number : 25 Question Id : 7196501465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Several factors interact and simultaneously affect the CO» fixation, the

rate 1s dependent by the factor at suboptimal level.

Reason (R) : Cy4 plants shows saturation rate of photosynthesis at 360 p 1", C3

plants response to high CO; concentration leading to high productivity in

case of bell pepper in green house.

QBB (A) | ¥IE oW ¥ T0eS erUSo WOkl S CO2 TS Séw, CSWE
BedPow §3°) S50y & PO SEPONE eHotNol.

O (R) : Cy S008pe0 360 p I 2565 Soyded Srdre C3 S8 e ©&8 CO, rreied &
RSP YWES BEAVEO WFR)N TPOS (55 200 100 Voo’ SO,

The correct option among the following 1s
&2 S0l DRYFOT LOGNIE
Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) H680wS8, (R) H0e0nsd 00k (A) $ (R) K0S a5,

I.K

(A) 1s true, (R) is true but (R) 1s not the correct explanation of (A)

(A) SOOI, (R) R00WIL 52 (A) 30 (R) D08 28508 5°¢0.

[

(A) 1s true but (R) 1s false

- (A) F0oNI& R (R) 0oL oM.

(A) 1s false but (R) 1s true
(A) 200080 W R (R) SoonsSh.

Question Number : 26 Question Id : 7196501466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A): In stems. living cells are organized 1n thin layers beneath bark and facilitate
good gaseous exchange.

Reason (R): Root. stem and leaves respire at rate lower than animals do.

QBB (A): oS Jefd Strew Dot 0 AUNES DR FOSS oHols PO
QNS dew O yTFow.
520eaad® (R) & 22o@adho F°gRS00 S0l JQ0, SP0lren DO VTPV @SN QNS B8 &

PO’ Golod.

The correct option among the following 1s
& $o& WYFUS DOTLSE

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 560038, (R) H000088 6050 (A) $ (R) H0S 8.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

s (A) D0©0WIR, (R) 000080 52 (A) ¥ (R) 00 2508 so0.

(A) 1s true but (R) 1s false
(A) R0oNSE R (R) S00S& 0.

(A) 1s false but (R) 1s true
(A) V0ONISE A = (R) SOoI&

Question Number : 27 Question Id : 7196501467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statements regarding entry of substrates into respiratory pathway.
A) The amino acids will be formed by protease activity on proteins.

B) Carbohydrates will be converted into glucose for entry.

C) Amino acids will enter as pyruvate or acetyl COA.

D) Fatty acids will be entered as PGAL.

L0800 DESNS'D PIBoRLE DTS DO DEPTLD (PGousID.
A) 23D FeSone WOZSONS @S eI D8 EEPow.

B) sO)ratod) DI90werad drstam drdoron.

C) oS ko 0036 Oor oS COA IO QIsrow.
D)  §¥gwsren PGALm Hdsyow.

Options :

B. C only

B, C Jorgad
|, ¢ ;2

A. C only
. A Cargd

C. D only

C. D arad
3. % -

B, D only

B. D Segdan

Question Number : 28 Question Id : 7196501468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the exponential growth expression among the following.

&2 808 TS JIPTPo¥ LANEL JPDED (08w,

Options :

W= wlen

e it
W= W, — W,e

~

T
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2 1t
W, = W,

= 1t
W=W,—W,

4 ®

Question Number : 29 Question Id : 7196501469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who discovered the transfer of genetic material from one bacterium to another bacterium

through pilus?

2.8 225000 0ol 28NN TE ePSO0NSE DU WPYT® SIr0 G 200 HEPTER),
DTS & 2dSE0?

Options :

Lederberg and Tautum

Oie0d S0 Erdo
1. ¥

Zmder and Lederberg

280800 20OV @G’a&oﬁ
2R

Griffith and Ehrenberg

HRE SOOI WSS
3%

Pasteur and Koch

FEN0 Ok 5%
4 %

Question Number : 30 Question Id : 7196501470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The proteinaceous infectious particle which can cause some serious animal diseases are

called:

FEDD PG KO 230BHUS' AIODES BV SnriEED TP &2 ABorP HLVF:

Options :
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Viroid
Cw  SOOSFONG

Viruses
JGeD
2. % a
Virions
a&cﬁr.%b
3%
Prions
%QOCSJ":S‘)
4

Question Number : 31 Question Id : 7196501471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List1 ListII
A)  Change in single base pair of DNA I) Recombination
B)  Deletions of base pairs of DNA IT)  Genetic map
C)  Generation of non-parental gene [IT) Point mutations

combination
D)  The frequency of recombination between IV) Frame-shift mutations

gene pail‘s on same chromosome

&t 5ol 232)TP O BDOWSN.

N | ereoee 11
A) DNAS® a8 2¢ 30070 760y D Sbecirasdo
B) DNAS morw adhen " ofS )  adgoirw

C) 2580w $do Glng) xdgadHo Soons [I) 2ol &B0SGT

D) &8 §ardre’ adgedo ado Sy V) 3-8 e yosdmrey
FO)INDRO oSNNI

The correct match i1s

DO 23¢9
Options :
A B G D
w I I I IV
A B - D
S III v II
A B C D
III IV | II
3. ¢
A B % D
IT I11 IV I
4 ®
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Question Number : 32 Question Id : 7196501472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a dihybrid cross between genes yellow. white and miniature characters, the parental %
between vyellow and white and recombination 1s 92 and 8 respectively. and the cross
between white and miniature characters, the recombination i1s 38% and parental is 62%.

Identify the genetic map of these.

VW), W OGN X8y L Su Lguesle go?x?ﬁoc.“f VWY, DLV WP
S HOFAPLR DOOIN Q0eCIrETEe % 92 SOOI 8 P, SR SHOLIN VI & Lty
&g Vo80T Yoirazare 38% P, HBYETarew 62% Pl W)y L.

HES 23:0gHISND 53008
Options :
L Y wm
92 62
y W m
7 ®
8 38
y W m
3. ¢
v 92 - 38 #
4. %

Question Number : 33 Question Id : 7196501473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List I List II
A) X-ray diffraction data I) Chargaft
B) DNA double stranded II) Meischer
C) DNA double helix 1) Wilkins

D) DNA as an acidic substance IV) Watson & Crick

& S0l DEIEO 22BROWSN

068 I 08 II
A)  X-808 0588 adoren D TR
B) g0t s DNA ) Sondd
C) &gvey0 DNA M) 50,5y
D) e Soeyay SO DNA IV)  aéns, 85

The correct match i1s

OGS 2385

Options :

[1I IV II I

2. ¢
A B C D
II I IAY III
3.8
A B e D
I1 I11 1AY I
4 %

Question Number : 34 Question Id : 7196501474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlas
India’s largest Student Review Platform

Correct Marks : 1 Wrong Marks : 0



Choose the mcorrect statements from the following:

A) A nitrogen base 1s linked to the sugar through peptide linkage to form a nucleoside.
B) A polynucleotide chain has free phosphate moiety at 5 end of sugar.

C) In RNA nucleotide residue has additional ~OH group at 2™ position of ribose
sugar.

D) It 1s observed that in DNA. A:T ratio and C:G ratio are not constant all the time.

&t §ob S DO aTgarOR) K0T

A)  af SPgSoirpd DB)GErs8, af SBE S50 2E wolio Tg0 SLtvod.

B) 28 POSPGIcIrSE T, Hamyrd e 30owes 5 S 8 S5 8356 Hotwod.

C)  RNA &2 0oF5 $5,0¢ 2' & oS’ SPg8airids o838 ©dSore ~OH Hsrirs
$HoN0d.

D)  DNA So, AT Q)& 50050 C:G Q)& )6 orr aHotsid HidRowsetos.

Options :
A. B only
" A. B g3
B. C only
B. C doegado
2 ®
A.D only
- A.D Srgd
D. C only
R D. C Jorgd

Question Number : 35 Question Id : 7196501475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

Identify the correct arrangement of different genes i Lac operon from the following.

& $ob PES” rgS AT RS’ DG BDZHL VOGN E0SND (08owSob.

Options :
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P.1L.2.Y.8

|, %

% 1,p.Z, vy, a
i P.0.p.1,V.Z
o Z.y,a,0,1,p

Question Number : 36 Question Id : 7196501476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following lists

List-I
A. EcoRI 8
B. Ti plasmud 1.
C. pBR 322 I11.
D. Reverse transcriptase IV.
Y.
& S0l DEIED WO WOKVI.
0881
A. EcoRI 8
B. Tirdc II.
C. pBR 322 I11.
D. 636y erdy8hE IV.
V.

The correct match 1s

OGS 2285
Options :
A B L D
II | \% IV
1.¢

List-II
Vector for transgenic plants
Restriction enzyme
Probe
RNA dependent DNA synthesis
Artificial plasmid

0e5-11
23008 WOXG 0¥ LB TeIr LD
OR9ER odoBan
oo
RNA w5r0& DNA Qodienain
53S0 PG
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k2

IV

< ©

-

Question Number : 37 Question Id : 7196501477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the following lists:

A)
B)
©)
D)

A)
B)
C)
D)

ListI

Hind II
Eco RI
Hind 111

rop codes

QOGS 23¢9
Options :
A
III
] ®
A
II
2.
A
III
®

The correct match is

B
vV

IT)
I1T)
IV)

IV)

List IT
pBR 322
Replication of the plasmid

First restriction endonuclease

E. coliRy 13

el 11
BR
TG VSEYS
TER0GE OVYIES ol vz
E. coliRy 13

L]
I-2
-2

o

~

T
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A B
I IV I

R 4

II

Question Number : 38 Question Id : 7196501478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following lists:
List]
A) Transgenic papaya
B)  Super weeds
C) Soyabean

D) ELISA

&1 80 HETOD BBHSVl:
D88 T
A)  HOSOS S yow
B) b D&,
C) dofr &S

D) ELISA

The correct match 1s

DO 2285

Options :

A B C D

v I 111 IAY I

A B G D
II IV I I

7 B

D)
1I)

I1I)

IV)

I)
11)

I1I)

V)

ListIT
Antigen-antibody interaction

Ring spot virus

Gene pollution leads to resistance to
weedicides

Herbicide tolerant

2 1T
OB G 25ES0-HB BEE HBHE 03
Bolh A IO
RNFTRZow S0 E) OTESL
A RPESH OBk
SRR VTPITL SES IR
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Question Number : 39 Question Id : 7196501479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following lists:

List1
A) Torula yeast I)
B) Biofortification 1)
C) Atlas 66 I10)

D) Hybrid breeding 1IV)

&1 $08 HEELS BEDGS0G:

HEE 1
A) sogersh D
B) edrdepdas I
C) o8 66 11

D) 008008355650 V)

The correct match 1s

DOG 2385

Options :

» I O v
A B C D
I m v I
28

ListII
Breeding plants for public health

Led to high yielding resistance to water stress

Single cell protein

High protein content

SSETI
oadores &Gty S §OK DaIJo

A DS AT VES $O0S wof Gvet Iw ©RBYR

(DTA% gﬁdﬁrﬁ) DOI”tI0
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Question Number : 40 Question Id : 7196501480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the re-emerging infectious diseases among the following.
A) AIDS B) Mad cow disease C) Cholera
D) SARS E) Dengue F) F-TB

808 A" B0 2000EDVES TP (0ouSD.

A) AIDS B) oSG T VA € Sooe
D) 6 E) Gotirg F) F-TB
Options :
A B F
],
BC.D
2.
~ D.E.F
3. %
b F
4. ¢
Zoology
Section Id : 71965029
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965029
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7196501481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The drug extracted from this plant 1s used as an anti-cancer drug.

8o 308, ol VE00NGE B T°IY0 AGTIS HAATFPHFD.

Options :
Digitalis purpurea
" &2387O0 DOQPOa P
Vinca rosea
doS° dalr
2.

Papaver somniferum

0PSO P )) @00
3. ¥
Cannabis sativa
30°) %0 e
4. = o

Question Number : 42 Question Id : 7196501482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Steller’s sea cows are extinct in recent years.

Reason (R): Over exploitation by human beings.

DB B0 (A) :POS DS0ER) WaH &2 2033 DeNVo WALIPIOW.
st (R) : e 03I o &% ©8o.

The correct option among the following 1s
S8 5ol DTS HOGDSH
Options :
Both A and R are true. R 1s correct explanation for A

» A 08030 R dz2zo. A § R 28D DHGe
.

Both A and R are true. R 1s not correct explanation of A.

A 0803w R d2zo. A § R DB DHGe? 57

1 &
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A 1s true. But R 1s false
A Q0. 570 R dzo 570

A 1s false. But R is true
A Dzo 5°¢D. 570 R Ao

Question Number : 43 Question Id : 7196501483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Intercellular junctions preventing leakage of the body fluids are:

$08 Zaren 528500t Ao SEPeBS Jotoen

Options :
Adhesion junctions

gV e VRS AVIIY

Anchoring junctions

e W00 Detden
Tight junctions
5 2A0ad) RoleN
Gap junctions
‘ 90650 K]o(}ﬁ)!?_,lj
4 ®

Question Number : 44 Question Id : 7196501484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statement I : Tendons attach one bone with another bone.

Statement I : Epiglottis 1s formed by elastic cartilage.

DBPSST 1 ) 050 200 (tendon) oS08 288 0dsSnEes” Dol
SO TT : &esr s DOFOE Soyioeres® 6 yEeod

The correct option among the following is

&8 S0l DTS HOAVSG
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Options :
Both statements I and II are correct

DAFAD I, OFED 11, Todsr DTHD

1. ®
Both statements I and II are wrong
DAFAED I, DAFAD I, Bodts DBHD S°¢0
2w
Statement I 1s wrong but Statement II 1s correct
- DA T DBIE 57D 5° PAIED 1T DBHE
Statement I 1s correct but Statement II 1s wrong
" DAFES [ 288 570 DA 11 DBIE 5°¢d
4

Question Number : 45 Question Id : 7196501485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~

T
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Match the following:

Mollusc Class
A) Neopilina I) Tetrabranchiata
B) Chiton IT) Scaphopoda
C) Aplysia I10) Monoplacophora
D) Pulsellum V) Polyplacophora

V) Gastropoda

08 7E3R) 2385 HGSols
M"rqa. Pels i lo
A) DOAPHTT I) EG¢oregroSoder
B) Ferd II) P VAT
C)  poave M) SrSPsyo
D) Oy Lo V) FOFS IO

V) P9 T

The correct match 1s

OGS &S
Options :
B C D
11 \"% IV I
| ®
A B C D
I IV \Y II
7%
A B C D
11T II V IV
3%
A B C D
111 IV V II
4, &

Question Number : 46 Question Id : 7196501486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following and pick up the correct statements:
D) Aristotle’s lantern 1s found in echinoids

1) Glochidium 1s the larva of cephalopods

III)  Scorpions respire with book lungs.

IV)  Parapodia are found in oligochaetes

508 WoTOD BN WA D0 T3 (HQodobs:
I) ©OFES Pl IPTOVELVS” Gollol.
) HDAabo DDS'IEL doZso

III) %09 DI &2H0BeHes” Z°IOFOW.
IV) 200800 ardy] SPTPe0 Gotow

Options :
[ IO
. ¢
P 9 i
2. ®
g LIV
I0, IV
4 %

Question Number : 47 Question Id : 7196501487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (0
Ammocoete 1s the larva of

AP B GotSo

Options :
Myxine
DS\

|, ® S
Ascidia
Joaalr

2 R

~

T
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Petromvzon

D8 S
3. ¢
Branchiostoma
grosalr
4 ®

Question Number : 48 Question Id : 7196501488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement I: Sternum appeared for the first time in amphibians.

Statement II: Snakes have 10 pairs of cranial nerves.

DBPES I: &G IGETOP Sa30% ST £025000.
DB 11k doe Queﬁ" 10 22¢5¢) EPOTPEN GolIP0N.

The correct option among the following 1s

e Sl DYFOS” HOGLID

Options :

Statements I and II are true.

| OFsIw I, I 0pRd
I

Statements I and II are false.

DSFSES L, I 2389 52

£

| o

Statement I 1s true. But I 1s false.
Q@?Cﬁé I 503 2R fg@iﬁ%ﬁ:ﬁ IT 5038 5260

Statement I 1s false. But I 1s true.

AR RUSIN AR AV RSN ATNE | RSTo VA

4 ®

Question Number : 49 Question Id : 7196501489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A): The transverse binary fission i Euglena 1s called symmetrogenic
division.

Reason (R): The daughter euglenae formed by binary fission are like mirror images.

Q3 S0 (A) : Al Rores 200 O OBV DI EIS VasesS Wolrd.
s°6t0 (R):  BITPOIYD 58 2d8)GeS 08 CFHTL C58)E DD WotTL T GolO.

The correct option among the following 1s
& S0 DAYFOS HOADIE

Options :
Both A and R are true. R 1s correct explanation of A.

A 300350 R dezo. A § R 00 a58¢3

| ®

Both A and R are true. R is not correct explanation of A.

A 3500050 R Q22o. A 8 R 08 05888 5°¢0

A i1s true but R 1s false.

A D220 20 R D220 5780

A 1s false but R i1s true.

» A 2o 3¢ 70 R Dese
4.

Question Number : 50 Question Id : 7196501490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform

~

T




Match the following
List - 1

A) Isogamy
B) Anisogamy
C) Hologamy

D) Conjugation

8old IR 2385 DGl
NV |
A) 00030
B) €9:0:0 0o03Pte
C) HSE
D) Do0intiyo

The correct match 1s

0QS 22
Options :
A B e D
A I v
A B 7 D
=i 1T II Vv I
A B i D
I11 I IT "
3%
A B k= D
III IV II I
4 %

1)
i
)
V)
7)

1)
1)
11])
1)
V)

List - 1T

Vorticella
Plasmodium
Monocyvstis
Amoeba

Trichonvmpha

Question Number : 51 Question Id : 7196501491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~
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Study the following and pick up the correct combination.

S08d ©oFEN @(1’)80531{}0 WV V0 DF Do) (0ol

Options :

Parasite

wael &)

Entamoeba histolvtica
Dolrder i:vg""gﬁsv

Parasite
DT 2

Plasmodium vivax
&Iy cabo DS
Parasite
Do r )

Ascaris lumbricoides
e5:9%, 60 VoS AVED

Parasite
T’.JU‘R')D. e

Wuchereria bancrofti
&sobair a:vagvg:

Intermediate host
mcssz)s?@ém

Tsetse fly
QR S8’

Intermediate host
maﬁéh}svaém)
Female Culex
e9¢t SLPJEI%
Intermediate host
m¢5335°aém

Sand fly
Fole D

Intermediate host
;ﬁrqﬁsibs“@éw

Female Culex
e3¢t EU"JJ%

Infective stage to man
ATPRDA) VoZE 5%

Tetranucleate cyst

e, o8 §'do
Infective stage to man
ST HND Doges 5%

Sporozoite

oz
Infective stage to man
AP VoS 5B

Rhabditiform larva
U"eijo.nef’)é“dé) T

Infective stage to man
QDIFRAPD VoFdes &%

Third stage microfilariae
B0 5% 28 PTB0L

Question Number : 52 Question Id : 7196501492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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In the erythrocytic cycle of Plasmodium vivax, the following stages are present.
Arrange them 1n correct sequence.

I) Amoeboid stage IT) Trophozoite

III)  Schizont IV)  Signet ring stage

V) Erythrocytic merozoites

Vg Lo JarSy 55Ees WEoS' Sold G G0l TPON. dTPERD DEANS SED oS S8 ol
I) e9e0eTPONG ¥ 1) WS e W

)  dwolio IV)  eoth9¥ &4

V) 253858 oo

Options :

N AV AL L1
| B
; V.OLLIV,V
. LLIV.IL'Y
i ILIV,LIOL V

Question Number : 53 Question Id : 7196501493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the incorrect statement:

S0l ©oFPLL BEZ0NNe WA, VO W), (WOt

Options :
Plasmodium malariae causes quartan malaria

F5Ea0 HSOAD SO PGS HSOOL® LA

|, ®
Precystic stage of Entamoeba histolvtica 1s non-pathogenic.
aJoadoer® PYTdse AAE) PO S0 G 73l EDNeS
2. % & .
Larva of Ascaris 1s rhabditiform larva.
TP2I0EIP80 SR ey 80 eroey ¥
3. - i

~
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Inflammation in lymph vessels of man due to Wuhereria 1s called lymphadentis

&S00a° Q) 3 RE0 TS EO0 TP DodPGotdv @ty
4.

Question Number : 54 Question Id : 7196501494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Triangular joint 1n the leg of Periplaneta 1s

DO NS Q) BSEPFEY) R

Options :
Coxa
” e
Trochanter
S'sPatod
s
Tibia
¢3205
3, %
Tarsus
eGS0
4 ®

Question Number : 55 Question Id : 7196501495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following:

Cells of corpora adiposa of cockroach

A. Trophocytes
B. Mycetocytes
C. Oenocytes
D

Urate cells

Sold PEIR 23¢5 DGV
Q08 °C° \T° WA R Stren
A S
B. bSpiy
C. &SP
D. o508 Seren

The correct match 1s

OGRS 23¢9
Options :
A B G
V II IV
| B
A B £
e« W I Il
A B C
V I IV
3, ¢
A B €
II 1AY I
4 ®

‘i‘.-*

!_—|

III.

¥
g
®

Function
Symbiotic bacteria
Store uric acid
Intra cellular digestion
Secrete lipids

Store food

SO
0883 eI O05°
OXP0S &P, VNS Wodo
SeroBOS 28 SO
§ QDU YPON)
SO0, VLS WO

Question Number : 56 Question Id : 7196501496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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In cockroach, ootheca around the eggs 1s secreted by

S Qo8 BG5S GSOLP GG EOT NDoWD
Options :

Utricular majors

AEB0geS F0ed Sy
1. ®

Phalic gland

DO8 Ko
2, ®

Colleterial glands

y §PEI000S (Jotioen

3.

Utricular breviores

O0E305e7°0 BOCITE
4 B

Question Number : 57 Question Id : 7196501497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Pick up the organism that emuts light

50009 ot Ve300 S d)gmﬁo&

Options :
Pyrosoma
DOVl

1. =
Mpytilus
D

2. % =

Pontobdella
Jolresiere

3. % e

Aplvsia
&,
‘B a)%)a.gaiﬂ
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Question Number : 58 Question Id : 7196501498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following
List-1
A) Carbon monaxide
B) Carbon dioxide
C) Sulphur dioxide
D) Ozone depletion

800 TPEID BBVGS0C
58S -1
A) '3"62)5 ?ma"gbé
B) $°6yS Gairgy&
C) D06 cosrg\&
D) axﬁfs LR

The correct match 1s

OGNS wh
Options :
A B C
V 1AY I
1. ®
A B ¥
I I 1Y
7 &
A B 5
I11 I 1Y
3, ®

1)

V)
V)

IT)
1)
V)
V)

List-2
Global warming
UV - rays
Eutrophication
Acid ram

Oxygen transport

D0 -2
ZoPTE00
AT a0y 6T
S ILSIRERIS
0233 B0

esé:}aé fofw >

~
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4. ¥

Question Number : 59 Question Id : 7196501499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Nitrogen cycling 1s given below. Identify A and B in it.

50td G IaeR SLODNS” A, B O (0Qoulels

Biological Atmospheric Nitrogen
< ; , —
$50 So FESE08N S|nd
£
Industrial k) Electrical
0| T Al b
\ il
¢ Y

Soil Nitrogen Pool
e R“Jkeﬁasﬁ}

NH,—— NO, —— NQ;

®

uptake
[IerosEo

W

Decaying biomass
HPVEF) z@eﬁ@:@m@

A

Plant biomass
3% éa:;Lc:i;;;écw@

Animal biomass
208 ﬁs:i;\_d ;.:‘50"’%

Options :
A B
Ammonification Denitrification
§ DT DEGEI0 DdHEGe0
3

~
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A
Nitrification

DBE6E0

A

Denitrification

DIEEGE0

A

Weathering

OV 3OV(0

B
Weathering

OV FOV(o

B

Ammonification

9D B0

B
Nitrification

DBEGE0

Question Number : 60 Question Id : 7196501500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Absorption of water from undigested matter takes place i the large

mtestine.

Reason (R) : Inner lining of the large intestine has villi to increase the area of

absorpion.

ﬁ%h@o (A) ; &‘fgc PH06T° OIS é@éo Sobe DR EJCQ A0S §°0E80 WolieBob
0 (R) @ 1P e SDO BotS'D o S0rlseen 4°06 Serd) ©h% Brow

The correct option among the following is

S Sold DAYFOS” HOGLIL

Options :

Both A and R are true. R is correct explanation for A
A 208030 R Dazo. A 8 R 2B DH6¢€3

Both A and R are true. R is not correct explanation for A
A 508030 R Qao. A 8 R 28 DadHGE? S°¢»

], %
2w
A 1s true. But R 1s false
> i A Dz0. 5°0 R Q2o 5°¢

~
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A 1s false. But R 1s true

A D230 3°. 50 R D2do
4. %

Question Number : 61 Question Id : 7196501501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the correct one:

Sobd oD @6_8013(60 D0 r‘:.}gﬁ Pl ﬁ&goﬁo@.

Options :
Increase i blood pH causes right side shift of the oxygen -haemoglobin

dissociation curve

65D pH DOfcio H9 381227 ArH DS DA G2 HEITYH0 2800,

Decrease 1 blood pH causes right side shift of oxygen-haemoglobin

dissociation curve

655D pH Stitdo 59 88 \20-PATH DD Dalrad B2 HETDH s2dorhed.

<

Decreases 1 temperature causes the right side shift of oxygen haemoglobin-

dissociation curve

&Y S50 DY 882D TFATH DS DAITraed HEB HEIDH0 28000

Increase m CO; level m blood causes left side shift of oxygen haemoglobin
curve

8%eeS" CO, :;m D60 DY WEEA-FIFT A0 DAL DB Wb
2300 0&

Question Number : 62 Question Id : 7196501502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Correct course of blood circulation i human heart.

SIS oGS’ 2300 DO 8 H00es S°Po

Options :
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Left atrtum — Left ventricle — Lungs — Right atrium — Right ventricle.

55 BOK — D 23608 —> SROBBL —> S K08 DA 208

. ®

Left atrium — Left ventricle — Body parts — Right atrium — Right ventricle.

o 4

Right atrtum — Right ventricle — Body parts — Left atrium — Left ventricle.

L

Right atrium — Right ventricle — Left ventricle — Left atrium.

WS BOE — oKl 2808 — BL° WP —> LG K08 — G 2808

& 0% - DA wB0E > DL TIPLD —> IS K0E - WS 23608

6 505 — G xG0¥ — oI5 2BOE = WD 0%

Question Number : 63 Question Id : 7196501503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Renin 1s secreted when blood pressure in

&5 8o TP €5°0 BEDES0 SPEINH0) BAR DENSO W
Options :

Afferent arteriole decreases

DI G0ISS” B Mo BV

1. ¢
Efferent arteriole increases

L, TS B0JES” 68 2GR0 DOADDE
Afferent arteriole imncreases

. DT G20DES” 68 Do BRI
Efferent arteriole decreases

| DTS $20J8S” 68 CD0 SHIDCD
4,

Question Number : 64 Question Id : 7196501504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Neurotransmitter released at the neuromuscular junction of a voluntary muscles is:

mo@eﬁ Eolsl oG Bolss Do 56 DESOALg TG TS0

Options :
Acetyl choline
IVEIS §'OD

1.¢ =
Epinephrine
SIS

2, ® o
Norepimephrine
LTI

3. %
Dopamine
EDD

4 B

Question Number : 65 Question Id : 7196501505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the nusmatched pair

DO 23¢5 WOV BB (0Nl
Options :
Olfactory nerves - Sensory nerves

DTPET IPCEIEN - B3PS TPCeIEN
L =

|, *
Trochlear nerves - Motor nerves

Cx BrS TR - PO TR
Glossopharyngeal nerves - Sensory nerves
23507 (30R) TP - &) TR

.;_ J o =
Spmal nerves - Mixed nerves
§300 PG - QP TP

4. %

Question Number : 66 Question Id : 7196501506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The function not related to thyroxine is:

@@é;ﬁ 50 Vo2o@odd DO f'i)gmf)a&

Options :
Thermogenesis
STS)2

| % '
Erythropoiesis
edues ¥ TP\ ES

7 &

Regulation of blood calcium and phosphorus

3% 5°Q0%e, FP0YBR0 JCKegHes
3. ¢ =

Regulation of basal metabolic rate

SePS 28 S05 B Vo%oLEs

Question Number : 67 Question Id : 7196501507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following:

Statement I : Tgy cells are mvolved i humoral and cell mediated immunity.

Statement II: Natural killer cells are a type of lymphocytes.

S0 8oL BEWZONJo WOKols
LA ANE | ;T $ePe0 B8 G5 8105 8¢ OO GEBS D, 5es AG0

5% ATSESS S e olron
SOFSSI 1 0ras $rotE B a8 SEDS 300 Seen

The correct option among the following 1s
6 Sold DAYFOS” HOGNIE

Options :

Both statements I and II are correct

| OSTESe T 112095
1.

~
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Statement I i1s correct and statement II 1s wrong

DAFEGS T 2IO. T HAFES 11 2PHS T

Statement I 1s wrong and statement II 1s correct

DOFESS 1 DPIO S0, T2 PAFEGS I 2598

3. %
Both statements I and II are wrong
" VBPOI L, I DB 5°69)
4

Question Number : 68 Question Id : 7196501508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statement I : Penetration of sperm mto ovum 1s a chemical process
Statement IT : Acrosome of sperm secretes hyaluronidase which dissolves vitelline

membrane of ovum

DTS 11 @ociods’s BgS0 D J'Dco 208 BI"0IS HSOWD.
DA I1: B0gSe30 ABE), DE o Mol VDowserd Trosrent ey eotio CRVS),
DSBS YT SBARA.

The correct option among the following is

s $o& DRYFOS” HOQLIH

Options :

Both statement I and statement II are correct

DO T 208050 DAFED T HBSD

Both statement I and statement II are mcorrect

DAFBD 1 208050 DAY G 11 HBHD °)

)
&

Statement I 1s correct. but statement II 1s incorrect

DOV GD I 288, DAVED 11 28O S

~
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Statement I 1s incorrect, but statement II is correct

VAT 1 V0HO 52, DAFED I DBHS

4 ®

Question Number : 69 Question Id : 7196501509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1| Wrong Marks : 0

Match the following

List -I
A Coitus mterruptus L
B. Cervical cap II.
C Multi load 375 I11.
D. Saheli IV.
V.
S0l PR 2369000506
N oS |
A. €90EH0P00 Do HBo
B. ﬁoﬁge’oﬁ,} AV VAL 5(5 a2 PEH
£ m@ﬁ?é 375
D. Dere
The correct match 1s
QOAD 22
Options :
A B C D
IV I11 I II
| B
A B s D
IV V I I
2. ¢
A B D
. II I A" IV

List -1
Intra uterine device
Oral contraceptive pill
Surgical contraception
Natural contraception

Barrier method

S0 -11
L (30 0L P
II. BOYVTDE SE Seden
IOl  ASHACDE 409 WEDy
IV.  J&rz 58)00 68 duedo
V. o300 H5S

~
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Question Number : 70 Question Id : 7196501510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the RBC of a blood sample are agglutinated when mixed with ant1 B antibodies, then

the blood group of the blood sample 1s

w5 SePaeS otd B 0 Bifew 69) adol3 Hioes” EODSNNE Y ¥ KL K858
22008 & O SSrDe S8 ST°RVS Wolotdol.

Options :

A
|, *®

B
2.

AB
3 %

O
4 ®

Question Number : 71 Question Id : 7196501511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement I : All the three types of allosomal genes — X linked, Y linked and XY
linked are present only in male human bemg.
Statement IT : Only X linked and XY linked genes are present in female human

bemg.

DAPRIL : Pl 5P G WO 2dgaHN WO X- Brexd), Y — D) .
XY - o), 2205090 DSOS SrBd Gotrrow
DAFSSI 1 X- Do), XY — 05rex) a3dge9e0 Sghd &9 0" Gobrow.

The correct option among the following 1s
&8 506 DYTPOS” DOADIR

Options :
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Both statements are correct

5 0ol DBPPUILT® Dol
.
Both statements are false
Ooted DBPUILT® DB o))
P
Only statement [ 1s correct
O3PS I &oediadd DBHE
3.8 ¥ -
Only statement II 1s correct
DB IT Sredd DO
4, % ~ =

Question Number : 72 Question Id : 7196501512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following
508 TPEIR BBNGWG

Karvotype of Drosophila
EFder S sd@mre)

A) AA+XX
B) AA+XO
C) AA+XXX

D) AAA +XXY

The correct match 1s
QOO 23

Options :

II)

11D

V)

Sex
®otidrdo

Metafemale
Dla) 53 )
Female

D &D
Intersex

20800 2

Metamale
298 DN B

Male
BN ED

~
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II IV I I1

] ®
A B C D
cm N I I \Y
A B € D
@ A Il I11 v
A B K D
II V I III
4 &

Question Number : 73 Question Id : 7196501513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

It both parents have AB group. this blood group 1s not expected in thewr children.

S0 Boen BEET AB $8o $90 Gol3, 0 DUOES' S 5 Sifo Gotsthd

Options :

A
. ®

B
2. %
3. ¢ O

., AB

4 &

Question Number : 74 Question Id : 7196501514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A): Steroid hormones regulate gene expression by entering the target cells.

Reason (R) : Steroid hormones are water soluble

Ao (A) : JOPOWE IPG PN LESTTOS'S PIBoD 22Dy Sg§ SGED FOTEVFOW

0o (R) : Dorond $O e w0 A8S SGuheraw

The correct option among the following is
&8 $00 DDYFOS HOTIH

Options :

Both A and R are true. R is correct explanation for A

A 208030 R Dao. A 8§ R 28 D56¢e2

Both A and R are true. R 1s not correct explanation for A

A 506030 R Dzo. A 8 R 28 DdH6e 5°¢»

2. %
A 1s true. But R 1s false
A dzo. 570 R Q20 570
3.+
A 1s false. But R i1s true
” A Q2o . 30 R Q2o
4.

Question Number : 75 Question Id : 7196501515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (

~
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Statement I : Organs which have similar structure and origin but perform different
functions are called analogous organs.
Statement II : The sudden appearance of some vestigial organs mn a better developed

condition 1s called atavism

DBPAS T 1 Q0°YEIo, QYENE 28 VWP Gole FOE AL AT0ow BWSONTOD
SOIPPlg 0T otl.

DBPES IT 1 §R) PG ©SFPS0DNTPL0 286 Dol BS LB ol S NGEPD),
WP Yol

The correct option among the following 1s
& S0l DRYFOS HOGDIE
Options :
Statement I and statement II are correct

DO T 50050 PAFESS T HTI

| &
Statement I and statement II are false
é@éﬂc‘éé I 0803 Q@#Cﬁaﬁ IT 003D 579
2R
Statement I 1s correct. Statement I 1s false
@@ﬁc&é I 2036. @@i}"éé IT 5038 °e0
3 ®
Statement I 1s false. Statement I 1s correct
P ‘Q@?C&é I 3056 sedv. ‘Q@iﬁﬁéé II 133&
4.

Question Number : 76 Question Id : 7196501516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following and pick up the correct combinations:
S.NO List -1 List -2 List -3
L Anagenesis Divergent evolution  One species diverges into two or
more species
IL Cladogenesis Phyletic evolution Evolution of a new species in

single lineage

III. Gradualism Charles Lyell Earth has changed slowly
through ages
IV. Biogenesis Louis Pasteur Living organisms originate from

preexisting forms

AR AET T oV WA DR 00 R Dorrd HoQoiels

oJ .0 8% — 1 oS8 —2 wSON -3

L wEan5 Da0es LB a8 2 T DEFow Dol OF
oI80p. 5 e e 6 A

O &80 SOE8 Hoerade 8 S090% Sa0otS" 2 2B ol
§'¢ S 68 ) addleo

OI.  Saoruticde T°Pn LOLS WP Sl VT Salor™
NV VTSR YT AT

IV. wicr&a5 erour P36 2Hen @oedBicied &S ) Do

el &lyFow

Options :
LII
| ®
II, III
2w
3. ¢ IH* IV
LIV
4 ®

Question Number : 77 Question Id : 7196501517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Statement I The existence of deleterious genes within the populations is called genetic
load.
Statement II: The changes in the frequency of a gene that occurs merely by chance in

small populations is called genetic drift.

VBPBI T 1 BIPES TPIEEDS 23:030)N GolilIR) 23-03%°C0 Wl .
DBPES IT 1 D), &PGPS OSIPY D)ol P 28Dy FeFs)nigotS” 2800 PG VD
233080 oI,

The correct option among the following 1s
&8 500 DDYFTUS HOGSS
Options :

Statements I and II are true.

OBFESS T, T H95D

1. ¢
Statements I and I are false.
5 ‘Q@?Cﬁé L, IT 30 5°a9)
Statement I 1s true. But I 1s false.
:0@3"(5(’6 I O0IQ, ?’g@?éé IT D03 .
3 ®
Statement I 1s false. But II 1s true.
. Q@i}ﬂcﬁrﬁ I 0036 78, °0 Q@BEE“C.'J‘S II 2_TJXS.
4.

Question Number : 78 Question Id : 7196501518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In worker honey bees, pollen brushes and pollen baskets are present on

respectively.

500 SIS DTG S0 , DT NG 20060 SERIP I S Gobrow.

Options :
Tarsi of legs and tibia of mesothoracic legs

Sy 6ROy D005, S0ty SK g €O S

1. &

~

T
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Tars1 of legs and tibia of prothoracic legs

S°Q CP0) G, aPIgE S°9FQ E32I0N Q0d

2 %
Tarsi of legs and tibia of metathoracic legs

L 5P g CPO) add), oy S 579 COI0N Q0
Femur of legs and trochanter of metathoracis legs
529 200 8, 2Dy S& 5°¢ 55700 e

4. %

Question Number : 79 Question Id : 7196501519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

Product Obtained from
A) Omega 3 fatty acid I) Honey bees
B) Propolis IT) Shark hiver
C) Vitamns A. D IIT)  Aur bladder
D) Isinglass IV)  Sardines

V) Broilers

S0l PR WBVGIG
&80 Do
A) 2o 3 EHN o I) B3e)5e
B) JJ93 ) J6 3D s dabo
C) A, D Do o)  orodw §%o
D) 20 TR V) B

V) gronod
The correct match 1s

OGS 23¢9

Options :

~

T
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Question Number : 80 Question Id : 7196501520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1| Wrong Marks : 0

Assertion (A)

Reason (R)

23 %o (A)

0cie

The correct option among the following is

(R)

: Not all tumors are malignant.

pS53 gene is called guardian angel of cell’s genome

©Q) Snten rdN) o Sethen )
P53 &g 8§63 25’0 Dolies Daded ol

& S0 DRYFOS” HOTDIB

Options :

2.¢

Both A and R are true. R i1s correct explanation for A

A 208030 R Dazo. A 8 R 20D D¢

Both A and R are true. R 1s not correct explanation for A

A H08ain R dzo. A 8 R DB DadGEs S°CD

A 1s true. But R 1s false

A dzo. 500 R Do 5°¢

~
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A 1s false. But R 1s true

A D220 328, 520 R D220
4,
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The Nobel laureate ABDUS SALAM 1s known for discovery of

80> @) Ry BE%0 S (53¢ 2D e (ABDUS SALAM) (0005 odedo?

Options :

Wave nature of matter

éwg €98t O (Swaso

Unification of weak and electromagnetic interactions

BT 200K DN oh S g0 NoOiresado

. ®

Cyclotron
2. ®
3. ¢

Cosmic radiation

233 (Cosmic) 58¢es0

4. %
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The dimension of light year

) ESEIN N 026) a0ed
Options :
LT
1. ¥
f
2 ®
ML’T™
3. %
7
4,
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F— " - - . . 1
The position of an object moving along x-axis 1s given as x =a + bt™, where a. b are
constants and t 1s time m seconds. The object covers a distance of 16 m 1n 2 secs. If

the average velocity of the object betweent =3 s and t = 5 s 1s 28 m/s, the values of a

and b are:

X-0%o Jowb HOLPBT) w8 Sa) FAR) 2. b DTo5Pen Ok T AEIS” DadaferP
500 28 HEGEe X =a +bt’ TPIT® AGIDoSSEDY. 2 DEIS" & S 16 m &rdo
DOIPEBVB. t =3 5 HOAW t =5 § PO Sgd@S @R DT%I0 e VS 28 m/s WONS,
a 0005 b & denden S8odre,

Options :

2m, 3.5 m/s’

4m. 3 mss’

~
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®

0m. 4 m/s’
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The following figure shows the speed-time graph of a particle moving along a fixed

direction. The distance travelled by the particle between time t=0stot=6s 18

&S o) Do S0y Stso GIE), Stio-5Lo D" S0l WrDeGSR. t = 0 5 ok
t=6s > 555&6‘ 580 DO rdo

i A e e _
v i
(m/s) :
¢ : > t
0 5 10
Options :
50.2m
1. ®
60.8 m
2 %
30. 6m
3 R
40. 8 m
4.
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M

Vector a=i+2j+2k and b=i— j+k. What is the unit vector along a+b?

00F a=i+2j+2k 0050 b=i- j+k. a+h OIS Ieck DO

Options :
2i+j+3k
J1a
1. ¢
2i—j+4k
V20
2. =

3, %
2?+3—3£
J10
4 %

A

M

M

M

M
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A particle ammed at a target. projected at an angle 15° with the horizontal 1s short of

the target by 10m. If the same particle projected at an angle of 45° with the horizontal

then 1t 1s away from the target by 15 meters. The angle of projection to hit the target 1s

2 B23005070980e8” 15° © §e50eS” Qéhoéw&cé o8 ¥tso UE'S«{JIQ 10m 58S’ 05000, R
Eeoo 3323007080 o& 45° © §'gseeS Qi&)oé&)&é, O¥go Do& 15 m Grde SOH

DB0H0tNod). OGS UFT(R), THEK FISUVS HEDE 550 oot ?

Options :

~
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lSm_]‘(iJ
2 10
4.
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Two balls A and B of masses 50 kg and 20 kg are moving in a straight line n the
same direction at speed of 9 kmvh and 18 km/h respectively. Ball B huts A and
reverses 1fs direction at a speed of 27 km/h. The speed of the ball A after the collision

1S

A 30050 B 2vote Geigorden SGure 50 kg 005w 20 kg. & woten oth s H¥S
O8O WSo ) 0N, A Al oo 9 km/h 50050 B Al e 18 km/h. B 200

A 00933 PG 30 27 km/h SKoes SEESDSe I0ed. SRHFSe B, A
Wo CIEy, Io?

Options :

27 kmv/h

~
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15 km'h
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A simple pendulum is suspended from the ceiling of a car taking a turn of radius 10 m
at a speed of 10 m/s. Find the angle made by the string of the pendulum with the
vertical 1f this angle does not change during the turn.

(Assume g = 10 m/s?)

w8 V0 LduSO%H 8 REDY)SH Jurdent God. 0 Jo 10 m/s otk 10 m
5B SoX)BOND. T SAIYYD SV¥o JPENES B §ectS Derols S0
SIQ0ND, VL Ve SO & Yok Sedo

(g =10 m/s* ©05&)

Options :

30°
1, ®

45°
2. ¢

60°
3. 8

75°
4 ®
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In the diagram below the spring has a force constant of K. the block has a mass of m,
and the height of hill 1s h. Determune the compression of the spring x such that the
block just reaches to the top of the hill.

(Assume that there are no non-conservative forces mvolved.)

800 Db2oS" SPDRIGS 3900 0%, 200 DT%E0 K, B0 85078 m 0050 §'ots e I
@ Y §'ots wIBSK IEEO Y90 0%, Voo X DS
(g3 200w Jardo TR ©HS oG)

| ]

Options :
,2 m
X = —gll
K
1. ¢
2m
X — i
Kg
28
K
X —
2 mg
3, ®
’mgh
X=,|——
2K
4 ®
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Two masses of | g and 4 g are moving with equal kinetic energy. The ratio of the

magnitudes of their linear momentum 1s

1 g and 4 g Q507D DSreaS ¢ides dSe8° Eeneinnr) aw. 2 30D Pedgalire Deusse
WS

Options :

4:1
| *

| §%
2.

\/5:1
3 %

L A6
4 ®
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Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
: - : %, i 2
A solid body rotates with angular velocity @=ar i+b0t" j where @ = 1 rad/s” and

b = 0.5 rad /s* and ¢ is in seconds. Calculate the angle between the vectors of the

angular velocity and the angular acceleration at 7 = 1 sec.

w8 D05 Sa) 0%, §B0%H %0 @=at }+br2} P AOgDodebod. a = 1 rad/s?,
b=0.5rad /s’ 0050 ¢ ?oé‘g@‘ 308G, 1=1 VD 36, SO0 oI%e OO §'o%
B0Er0 DAL &g é)écbdb §'t30

Options :

()

|, ®
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Cns"l(-—J
~10
3 ®
3
Coa H e
{\/IOJ
4 o
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A uniform wire of length ‘L™ with centre of mass at the origin is lving along the
X — axis. The wire is bent i the form of a circle such that its lowest poimnt is at the

origin. Then the shift of centre of mass is

JPO Dol K BI50°8 oo 500 X-0Eod &Sy VOS S &Y L. D
égg"?éofﬁﬁ 50&5@5@ TP &5 2Jolal) PO 2Joled)es” béaﬁ@:@o&. Qo\ﬁgﬂ"% goéo
38y, APDIe (shift)

Options :
L
T
| ®
2L
2. % =
L
27
3. ¢
L
3T
4 ®
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The function (SIn ot — cos wt) represents the S.HM having a time period T

s DS SOy § GO Hbato (SIN ot — COs o) s, SGS Fwo T

Options :

/o
| ®

2nt/®
2. v

n
3,

27

4. %
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In an earth satellite moving 1n a circular orbit, a piece of metal (weighing 0.016 kg on
the earth) 1s weighed by a spring balance while the metal 1s suspended in water. If the
density of metal 1s 8 tumes of water density, then the recorded weight will be

(g 1s acceleration due to gravity)

SYTTE 853 63) BPEHETTR 0l SR S0%), (B5rauR &0 20809 0.016 kg) S¢S
SR &S) Y Y90 TP GOAIFNIoW WD SFTOITW. S50 CINEY, Wo A
FPoldE%0 8 TEw oW, SODS W)

(g ©DIH oy €8E0)

Options :

14 ¢
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Zero
3
2g
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Consider a metallic wire of length 10 m. An extemal force applied results in an
elongation of 5 mm. What is the potential energy stored per unit volume

[Young’s modulus of wire Y= 16 <10'° N/m?]

10 m &r&ad) S0 28 ST B3 HOHEIoDILIONS 237y e VATF(So 220N Y WS
PENSO S, 250 LSHONITSSNIL VLY BoeosS 3z
[€3¢5 00 Boe3%e Y= 16 x10'° N/m?]

Options :

2.00x10* J/m’

2.58%10° I/m’

2. %

2.12x10° J/m®
3, %

2.72x10* J/m’
4. "
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A cylindrical block of wood of mass 10 kg and radms 10 cm 1s floating i water with
its axis vertical. When 1t 1s depressed a little and then released. it starts executing
simple hormonic motion (SHM). The frequency of the SHM., executed by the block
1S:

(Assume g= 10 m/s” and let p is the density of the water)

10 kg {83078 2000w 10 em a3egrGo SONS 8 QParsed Qo) TP @&o VLN GolilT,
VD BB, TPUD WG GVAIPNeD SQCR) VIS POPG E CORPL Wold. BN
&R (SHM) reSs megR), G5 0u80k.

(g= 10 m/s? 500050 P’ O3 Pode)

Options :
i— -EHZ
20\ x
1. ¢
L e
27 V10
2.3‘
1 1P,
V10
3, ®
i sz
10V 2~
4, %
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50 g of ice at 0 °C 1s mixed with 50 g of water at 80 °C. If the latent heat of ice 1s
80 cal/g and specific heat of water 1s 1 cal/g °C, then the final temperature of mixture

1S

0°C & 50 50 g 0035050 80 °C 3¢5 &), 50 g e5e5° SOF0. Sochy (o 80 cal/g
0050 OE3 o205 1 cal/g °C, 0w QuE50s0 ok, b &S

Options :

0°C
1. v

40 °C
2. =

60 °C
3%

4°C
4. %
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In the case of black body for energy distribution. energy radiated by a blackbody

which 1s given by, Planck’s formula reduces to Rayleigh Jean’s formula for

K38 S20a8) GR0Ey, ¥8 DE8SEr DRODES” TR Sols TS D8GEs F80 DSOS oS reo
2 FotoeS' BORD KrghorP £0urEtes Botothed.
Options :

long wavelength region

03 BBty FPoasd
1.V N

short wavelength region

VD0 BEIBOg FroBadn
2R

~
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equal wavelength of radiation

a8 BGotiRUge L8Geso
3%
long frequency region
O3 FJe)Ig ot
4 ®
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Correct Marks : 1 Wrong Marks : 0

An air conditioner (AC) removes heat at a rate of 1.2 kJ/sec from a room. A power of
400W 1s required to run the AC. The coefficient of performance (a) of the AC 1s 10%
of that of the refrigerator operating between outside and room temperature. If outside

temperature is 37 °C. what will be room temperature?

8 SEOKE Do 8l 50 S 1.2 kl/sec Béweds® &3Py, BAIADNE. ODSND
SRR 400W PG50 @S0, ODoBND AN, DA (a) tHesso JLHO $HOO%N
SO SYBOL Sy 0o KRS 10%. JDHO SIS 37 °C wowd, K6 S
oJoh?

Options :

315
| ®

S
2.

24 °C
3 ®

23"°%
4 %
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Pressure versus temperature graph of an ideal gas at constant volume V is shown by
the straight-line A. Now mass of the gas 1s doubled and the volume 1s halved then the

corresponding pressure versus temperature graph will be shown by the line

$o0 HESVES BB AN Do SO GABBEL TPD, DS HSHOSTEI V' 56 05
3% A’ S DPAB. & oY) TE), SS5TO Do) I, WSVOSTEP) IPOS
S0 HXSo-SAHBOL [P HPod B

P a
B
A
/ o
/ D
':{'_:-/"'
e >
T
Options :
A
| ®
B
2. ¢
B
3%
D
4 %
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A standing wave can be produced by combining

© Do0IPBoes” 1S BBoto o) YRR,

Options :
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Two longitudinal travelling waves

Oole) ©HPTg  055°e8 STl

. ®
Two transverse travelling waves
Cocl B85 Hodrres Borren
)
Two sinusoidal travelling waves of identical frequency travelling in opposite
directions
SgB0E QIS HOLHBNT), Wl FSddge (0 ergSsol(sinusoidal)  HOeE
SSorPe
3. v
Two sinusoidal travelling waves of identical frequency travelling in same
direction
&S QIS DOKPENT), &8 ardaddge (o ergsSak(sinusoidal) DoKees SorPen
4. %
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In which colour have maximum dispersion

2 Bot08> DD HORKT G0t

Options :

Violet colour

&20° Ol
1. &

Red colour

D) Gotd
2. %
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Yellow colour

e Gotho
3 W
Blue colour
Do Bt
4 #
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A convex lens 1s m contact with a concave lens. The magnitude of the ratio of their

focal length 1s :2" If their equivalent focal length 1s 45 cm, the individual focal lengths

-

of concave and convex lens are respectively.

28 50050750 20050 3PErseS Seoseen Sendek &aR) oW, e IPalge®d DeNSL AR

5 .
= °Cd g TPegoBGSN 45cm OB, PSS HOAKN H0eedPE0 S50 TralgeBTPen

S0P

Options :
—10cm. 15cm
|, %
—25cm. 10 cm
2 o
—85cm. 10 cm
3. W
=30 cm. 18 cm
4.«
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A thin transparent sheet of thickness ‘t” 1s placed in front of a Young’s double slit.
The fringe width will be (p >1)

Aol 22080 DOBL HAIPBL, ‘" S0t HO DEVID JPBLGE HVE, IOEL SN0l
GouSaatold. WOND DSNES HES Scseny (1 >1)
Options :

mcrease

VoV Qblu VoA

remain same

@éoﬁ“ Gollol
2%
become non-uniform
OIZODOINTP SPE
3. w
decrease
g U
4 ® '
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Four point charges qa =2 pC, gg = —5 puC. qc =2 pC, gqp = —5 puC are located at the

corners of a square ABCD of side 10 cm. The force acting on a charge of 1 uC placed

at centre of the square 1s

10 em © ghasutio ABCD W€080 30°0 @ qa = 2 pC, g = —5 pC, qc = 2 pC
0L gp = —5 HC ©J TPOUD Wold BITLD &°) 0N, WOV Sollo Q) &odd

SIF3W 1 PC 0 & IS0 DIDOLN WLo

Options :
Ze1o
RN
2 4 ¥
IN
7. %
2N
3, ®
3N
4 ®

+2C

-5uC

Ae—10cm—> B

-5uC

10cm

[
+2uC
C
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N number of charges. +Q each, are placed mamtaining equal distance on the
circumference of a circle of radius R. The net electrostatic potential at the centre of

the circle 1s

N DogeS, HQ waddotio O a8y &addo R argPdo K0 Sy °glod VeI Brores
oSG0, Sy Solo 3565 RS DS MEYONES
Options :

zero only if N 1s odd

N 2.8 &2 Solg oS g0

zero only 1if N 1s even

N 2 0 Hotdg oS rdgo

®

[

1 NQ
4ne, R

only if N is even

1 NQ
4ne, R

N 28 00 Dot oD

L
®

1. NQ

— mrrespective of N 1s even or odd
4ne, R

1 NQ
4ne, R

N 2.8 00 Dotdg Si° 230 Doy WONT® O
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Resistivity of the material of a conductor having uniform area of cross-section varies

along its length on x, according to the relation p = p,(a+>bx): if L is length and A 1is

cross-section area of conductor, then resistance of the conductor given by

( py.a.D are constants)

DEES PFIND FFVgo SN T8 DE*Ce GINE) AOWES p = py(a+bx) wo°
QOIReWBDY. L 258 éad) S0k A w0 .:»csgaocs JFTUg0 oS, Y VT G%

ES?

( 9y, A0 O DT®N)

Options :
ﬂ{ﬁb_f}
A 2
| ®
3
A 2
L
3
&[aLJeri}
. 2
3 ®
& HL"'“E
A 2
4.
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Thirteen resistors each of resistance ‘R’ are connected in the circuit as shown in the

following figure. Net resistance between A and B 1s

R 206500 50 DT QORI 038305 CaPa el e9eaoiPRoardy. A 0%
B © 3oty 258 0 Go De0S?

Options :
2R
| *
4R
* 3
7 %
2R
3
3. ¢
R
4 ®
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A conducting circular loop of radius r carries a constant current 7. It 1s placed in an

uniform magnetic field Bo such that Bo is perpendicular to the plane of the loop.

The magnetic force acting on the loop 1s.

I PgPdo (O SYTPSE SL0NS i VD DaPErEo LD, SN BUPAS VoI P Gl
WONFy 08 o Bo & SLODo GoSetod. SLODe G DAIOK SOLF) o8 2006?

Options :

irB,
| &’

2mwir B,
2 ®

Zero
3, ¢

zir B,
4 %
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Let E; 1s the magnetic field at the centre of the current carrying coil of radius R and

B, 1s the magnetic field on the axis of same circular coil at the distance of 3R. Then

8|
the ratio — 1s

B,

R aPg¥do 60 DS OSITROS), SU0DS'D oo &6 ©0HFyotd o B, ©F

- B,
SOONS R &ow 3R KFrdeS’ @OLTF)td ESo B, 0D Q O IQB?
2 B

Options :
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A magnetic needle kept in a non-uniform magnetic field. experiences

93503 @S’Cﬁ)ﬁ"&u@ i@p@i GowGend @Cﬁ)ﬁ”&a@ AP goti} TS DR éﬁ“@o&o

Options :

force but not a torque

S0 2080. @6&(@6&@“&%) SRS

| &
neither a force nor torque
Lo SH005N eG); S
2w
both force and torque
2000 S$H00KW €7°6),
3. ¢
a torque but not force
¢5); S3eGd. Wo S
4, %
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A coil of wire of area 0.2 m® containing 1000 turns is placed in a magnetic field of

mduction \E T. At time t = 0, the axis of the coil and the direction of magnetic field
are along z-direction. The coil 1s rotated by an angle 45° in 2s about y-axis. Assuming

the constant angular speed, the average e.m.f induced 1n the coil 1s approximately

2T 208 50 WONFY o) e, 0.2 m* JFPvge SONS 1000 L S0 ¥ 85 o
GoSetiod. t = 0 DS50%e 3¢ BN ©Xo SO0 WOLFy S E¢ B z- BIS
&) 0. 2 VEIS v~ O&o Jotdls, 5 &) 45° Seadnes” gaditio I, VY SEON Jtfoes”
&5), )5, €35 S0EES” DO D3N DS ¥ (e.m.f) DL

Options :
100 V
1. *
414V
2
586V
;. ®
72.8V
4 ®

Question Number : 113 Question Id : 7196501553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Three i1dentical emf sources are aftached to a single circuit element: a resistor, a
capacitor, or an inductor. The current amplitude 1s then measured as a function of

frequency. Which one of the following curve corresponds to inductive circuit?

AP D33 &J(ﬁ)gé POE RBISPLN  WS wf SOk NS 23 cﬁcz‘imq?an. 8 2
AE %, Sor Sardd Soe OED. &.}C&Jgé o DONBR FI)dy DO S8 oo,
80 IS ) SEo DOE SOOTRY, DPAA.

1‘ a
Imax \ b _/’

-

Options :

a
|, ¢

b
7 %

C
3. ®

d
4, ®

Question Number : 114 Question Id : 7196501554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ye
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A plane electromagnetic wave of frequency 30 MHz is travelling along k - direction.

At a particular point of space and tune of propagation. if the electric field 1s given by

E=30Volts / meter(—1) . then the corresponding magnetic field 1s

~,

TSy 30 MHz 0 8 0850 DgBoliye® Sdoie k- O3S Hofrsred.
GBI 28 ot &, WFTE DIOIPDS, Bt HVGEs TWVE, DS FG DL

E=30Volts / meter(—i) . €008 00200669 ©0HF),0% & De0s5?

Options :

107" T along ] direction

] &% 107 T
1. *
1077 T along negative ] direction
R | &% 1077 T
2.
10" T along i direction
i &% 107 T
. w
107 T along negative 1 direction
sVERe9) S 1 ¥ 107 T
4 ®

Question Number : 115 Question Id : 7196501555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

~
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In the experimental study of photoelectric effect, if Vi 1s the stopping potential and v
1s the frequency of the incident light on the metal the slope of graph plotted for Vo
Versus v 1s

(where h, e and ¢, are Planck’s constant, charge of electron and work function of the

metal respectively.)

Fod 23S DOG HAAPHS ITEE FEBIONS Vo SO0 HSS Fod FI)Ig0 ¥
€SP S502) DSBS Vo 500050 v 050 1D HRSS, TP Joe
(h-2reS DTPe%0, e~ &addo SO0 ¢ ~S'T7Y) DV Ved0do)

e

Options :
h
1. w
h
e
2.«
e
LR
%
4 ®

Question Number : 116 Question Id : 7196501556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The series corresponding to lowest wavelength transition in H — atom.

H — 00886 0001880 B350 50 Dog0a) MoPdocs 38

Options :
Balmer Series
2”00 39
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2. ¢

Lyman Series

5308 3

Paschen Series

PSS

Brackett Series

55 B

Question Number : 117 Question Id : 7196501557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equation 4 ,H — ;Hez* +2e™' +26 MeV represents.

00880 4 H - tHe™ +2e7 426 MeV 330 Hma%00d

Options :

Question Number : 118 Question Id

p - decay

y- decay

fission

&’begré )°

: 7196501558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The universal gates are

FOIDBE °I0°
Options :
OR and AND
OR 506050 AND
| ®
NOR and NAND
NOR 50600 NAND
2.¢
OR and NOT
OR 003w NOT
3%
NOT and AND
NOT 206csw AND
4 ®

Question Number : 119 Question Id : 7196501559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What 1s the output of given logic circuit below 1if A=0, B=1 and A=1, B=0

A=0B=13000A= 1B =0 eurr S0%0 §o& wrdentd S8 SO0

29a5)EDE
A }
) Da
B L/
Options :
0and 0
0 0050 0
o,
1 and O
1 6050 0
q ¥
0and 1
0 6w 1
3. ¢
| and 1
1 005w 1
4 %

Question Number : 120 Question Id : 7196501560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T

collegedunia:s

India’s largest Student Review Platform



A message signal 15 sin(100mt) is used to modulate a carrier signal 45 sin(3 * 10°xt).

The modulation mdex 1s

15 sin(100mt) 0oB¥ DeSEPQ), T°7E Do3Be 45 sin(3 * 1057t) S SovcogSE Dahgreos
GOOLPOR) 73NN P DENaS?

Options :

3

'J‘J'I'_

30

60

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Chemistry

71965031
4

Online
Mandatory
40

40

40

Yes

|
71965031
Yes

Question Number : 121 Question Id : 7196501561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The number of regions. where the probability density of electrons is reduced to zero

for 3s atomuic orbital 1s

35 0G5eea0 WO YEPSH WOFTINL G0E), NotTPS3T Polith 0w § S DTV Doldg

Options :
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| ®

2
2

3
3%

0
4, %

Question Number : 122 Question Id : 7196501562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For which of the following species. the electronic transition from » =5 state to n =2

state will produce the shortest wavelength i nm?

S S0l ol A5, JUSH0 n=35

Bee

S Dol n=2 i}@é dﬁ?@é@ad’m Je038%

Gﬁiﬁoﬁ@{éga nm ¢ §c5.]§30ﬁ° @oCol.

)

Options :
+
He
] #
H
) #
Li+2
3 ®
Be™
4. <

Question Number : 123 Question Id : 7196501563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




Identify the correct order of electronegativity for Mg, B, S1 and S.

Mg, B, S1.0050 S & Glug), 200068 D0gmRes) 38 Alng), DOGNS Eaddocdd HoQocdols.

Options :

B>Si>S>Mg

1. ®

S>B>Si>Mg
2. v

B>S>Mg=>Si1
3. %

Mg>Si>B>S
4 R

Question Number : 124 Question Id : 7196501564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s the correct order of atomic radi of the following atoms?

Ios gc:-&) Qad 5&)&:5 SDPLSCL) SIPED &J"Sﬂ“g’ﬂ) 0OQDA gﬁﬂ)ﬁ)}

Options :

Be > Sr > Ca > Mg

| ®

Sr > Be > Ca > Mg
28

Sr > Mg > Ca > Be
3. %

Sr > Ca > Mg > Be
4.9
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Question Number : 125 Question Id : 7196501565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules has permanent dipole moment?

&8 800 SEWHOS' 2O TFY B BPSESD L.

Options :

BF;
1. "
BeF»
) %
CO»
3. ¥
SO»
4. <

Question Number : 126 Question Id : 7196501566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules doesn’t exist according to Valence Bond Theory?

éowmeﬁ(suéb) 2008 ATPoBaSD (VBT) 05780 &8 S0l @E0aHOS B &GS Goled.

Options :

HE
1. ®

H;
2.

CH,
3 #

H,O
4 %
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Question Number : 127 Question Id : 7196501567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The van der Waals constant ‘a’ 1s the measure of intermolecular force of attraction 1n a

gas. The correct decreasing order of “a’ for the given set of molecules is

FolO PO JT%Eo ‘@’ VNS TPONNY) WEDHL g Gole WoBC i WETE WL
DOSTEPD), BN, S8 S0l FSgeted WL T°0k0 T°S JT oo ‘a” Ve DO
&0 00 0POete.

Options :

N>>H>;>NH3z > CO»

|, %

H> > N> >CO; > NHj;
2 ®

NH3;>CO;>N>>H»
3. ¢

CO2>NH3;>N>>Hj
4I3€

Question Number : 128 Question Id : 7196501568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Suppose that. 300 gm of C>Hs (g) 1s confined in a 5 L contaimner at 27 °C. Calculate the
pressure exerted by ethane from van der Waals equation of state?

a=35.0 dm® atm mol™. b=0.09 dm> mol™

2T 656_? 5 S Eﬁ“@@‘ 300 ro Sdo(a°) N &) Q. FPolsO 03“63 %}@ 088830
Sobs S8d~ (C2Hg) Qé@goé Ddo D @ga.m:)o@.

a=15.0 dm® atm mol™, b=0.09 dm® mol™

Options :
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60 atm

I *®
50 atm
2. w
40 atm
3. ¢
30 atm
4 8

Question Number : 129 Question Id : 7196501569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Molality 1s defined as

IrerOE eodSrP
Options :

Number of moles of solute in 1 kg of solvent

28 SN (kg) TPSRS 500 &), POBo 3L Doty

1.9
Number of moles of solute in 100 g of solvent
100 rreiove raseles” 800 &ad) TPAo Irow Doy
2 &
Number of moles of solute in 100 moles of solvent
100 3¢S © géaﬁeﬁ‘ 500 &)y g&)@a PO éoasg
Number of moles of solute in one litre of solvent
28 OG0 TS 00 &), TP Irew Doy
4, %

~

T
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Question Number : 130 Question Id : 7196501570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One mole of dioxygen gas at STP 1s equal to

STP &5¢ a8 3rS Ge8)2em I°050e)) S VRVINVN

Options :

2 -
6.022 x 10** atoms of oxygen

6.022 x 107 HSSreede ©8yBd

32 g of dioxygen

32 g GeISy&R
2.

16 g of dioxygen
16 g Gz

3 %

1.2 x 10** molecules of dioxygen

1.2 x 10** oo Bedysd

Question Number : 131 Question Id : 7196501571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How much heat will be absorbed byl mole of an ideal gas. if 1t 1s expanded reversibly
from SLto25L at27 °C?

(log3=0.5,log4=0.6,log5=0.7)

w8l a8 PO &0 05009 27 °C &8¢ 5 L ol 25 L 50 &9 98506505 g5 S0 WoldSew
GO o &0 4 RoIIER?
(log3=05.1log4=0.6,log5=0.7)

Options :

collegedunia:s

India’s largest Student Review Platform

~

T




50 L atm

I *®

29 L atm
2 ®

40 L atm
3. 9

60 L atm
4. %

Question Number : 132 Question Id : 7196501572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

K,. K, and K, are the equilibrium constants for the following reactions (1), (11) and
(111) respectively.

()  H, (@] (g == 2HI(g)

(1) 2HI(g) —H, (&) + 1, (9

] I
()  —H, (g)+ L (@ — HI (g)

Choose the correct relation between K,. K, and K;.

&5 800 BSGGS (i), (i) 00K (ii) SB5LH DTS dovoen K, K, and K,.
(1) H, (&) +1,(5°) — 2HI (&)

(11) 2HI(&°) — H,(o°) + L (o)

i) H@)+ L) = HI@)

K,, K, 50050 K, © 3085 08 Dototdo )O?

Options :

~

T
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K =/ -K
1 \/E: 3
®

K1=%<ﬂ=K§
v

fkd

Question Number : 133 Question Id : 7196501573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Five moles of NH3 (g) in a sealed vessel. dissociates as
2NH;3 (g) —— N2(g2) + 3Ha (2)

Calculate the equilibrium constant. 1f at equilibrium. one mole of N> 1s found to be

present.

PR G0 FPHS” 2 Srrene NHi (7°) 00éado S8 ol OGP Wbottob).
2NH; (a°) —— Na (a®) + 3Ha (o)
283 DHTPVB 3¢ a8 IS N &) 1§, DHTIB T8 G8) oudole.

Options :
4
| ®
3
& o
2
3. *
|
4, ®

Question Number : 134 Question Id : 7196501574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

In reference to water. choose the correct statement

(1) It gets oxidised to O, during photosynthesis.

(1) It gets reduced to H, by highly electropositive metal.

DEd Do, S0l aPga3LeS” HOQVIA.
(1)  SSeg Do0drtSoN DEONES” QB e35)80EIc Wold O, 0 JLSEHDD.
(i) O SINEBYLES tio ST DdEeS” AL LoswEbese Wobd H , b JLussBni.

Options :

(1) 1s correct

(i) HOAHIB

|I5¢

(11) 1s correct

(i) HOGHSE

2R

Both (1) and (11) are correct

(1) 0005w (11) Toler DO
3. ¢

Both (1) and (11) are mcorrect

(1) 0005 (i) Boter HOANSD 69

Question Number : 135 Question Id : 7196501575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following metal hydroxides is amphoteric?

800 S FFETBYEU’ 2B HIHIESSD bd?
Options :

Be(OH),

~

T
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Mg(OH);

) %
Ca(OH)
3 %
Ba(OH);
4. %

Question Number : 136 Question Id : 7196501576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules does not exist as monomer 1n its major form?

$08 EVHVS” DR IPS 00 WO 850’ Golitd?

Options :

BF;
| ®

BCls
7 #

BBr13
3 ®

BH;
4. &

Question Number : 137 Question Id : 7196501577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In diamond, the hybridization of each carbon atom i1s

GSES' OB PBYS HOSTERE) TV, Vo¥0ESE0

Options :

collegedunia:s

India’s largest Student Review Platform




], ®
;
sp-
3 ®
sp’
3 ¢
Sp
4. "

Question Number : 138 Question Id : 7196501578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UV radiation from the Sun causes a reaction mn the Earth’s atmosphere that leads to

the production of

IPEOgR Dobs LVt 9 QO S'3red S8Eren (UV rays) Sred0S0o 2 200 SPaiS
WL SO &HYS ©Ogh
Options :

Fluonides

el

Carbon monoxide

SEN SPTSNG

Sulphur dioxide
DUN0 GuSYG
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Ozone
£ueS
4. ¢

Question Number : 139 Question Id : 7196501579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When nitrogen and chlorine containing organic compound is reacted with sodium

metal. it forms

352S S005 FOOD KO &y ¥y HAYTSI, FEAWo SHroes” $8g FoBSYYE

o5 ché a’gmﬂg“w.

Options :
NaNH> and NaCl
NaNH> 20050 NaCl
| &
NaCN and NaCl
NaCN 0030 NaCl
2. ¢

NaNC and NaCl
NaNC 00030 NaCl

NaCN and NaOCl
NaCN 00050 NaOCl

Question Number : 140 Question Id : 7196501580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The major product in the following reactions is

&8 800 S303¢" OOErP oIS YE &9 0 WE?

()HCI (1 eq)

CH, - C=CH—= >
(HI (1 eq)

Options :

C,H, —CH, —CHICI

|, ®
f
C,H, - C—CH,
Cl
2.V
C.H, —CHI-CH,CI
3%
C,H, —CHCI-CH,I
4 %

Question Number : 141 Question Id : 7196501581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the possible final products in the following reaction?
800 305" PBgo0g D0 G YEFL) D?

KMIO, /H™
CH;3;CH>CH = CHp >

Options :

CH3;CH>CHO and HCHO
CH:;CH>CHO 50030 HCHO

~

T
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CH3CH>COOH and HCOOH

CH3CH>COOH 00350 HCOOH
CH;CH>CHO and HCOOH
CH3CH2CHO 56030 HCOOH
3. %
CH3;CH>COOH, CO» and H>O
CH3:CH>COOH, CO2 20030 H2O
4. <

Question Number : 142 Question Id : 7196501582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The density of a solid X 1s 1.5 g/ cm’ at —250 °C. If the atoms are assumed sphere of

o
radius 2.0A . the percentage of solid having empty space is

(Given atomuc weight of X=60g mol ™ )

250 °C &6 X ©3 250 e Pt 1.5g/cm’ HOSTEHODH 2.0A TgFTL B
(TP ©50%00¢3, LOIDE oS 79 HR¥o GIVEY. o Woth?
(X cwg) DS &rBo = 60g mol™ )

Options :
21
| %
50
2.
14
3 %

~

T

collegedunia:s

India’s largest Student Review Platform



89

Question Number : 143 Question Id : 7196501583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following mixtures shows negative deviation from Raoult’s law?

S0l aPReS’ N WES00 T 0NN v B E AuSdo WrR@?

Options :
Acetone and carbon disulphide

QLT SO0 Y0 BTG

|, ®
Acetone and ethyl alcohol
QLS 0050 MRS Wy IS
2. ®
Acetone and benzene
QSR 2DOO3N 230280
3 R
Acetone and chloroform
WWETR SHOCKW §: GFo
4

Question Number : 144 Question Id : 7196501584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (0

collegedunia:s

India’s largest Student Review Platform




180 g of glucose, CsH1206 1s dissolved mn 1 kg of water in a saucepan. At what

temperature the solution will boil at 1.013 bar?

(Ky for water is 0.52 K kg mol™)

28 POS 180 rrafow BrS'E (CsHix06) 0 a8 28 (1 kg) S $0hHowrto. 1.013 26
5, o) G S ErSero SHBHBE?
(D¢ A%y, Ko e 0.52 K kg mol ™)

Options :
100.00 °C
| B
100.26 °C
2 ®
101.52 °C
3%
100.52 °C
4 <

Question Number : 145 Question Id : 7196501585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0.804 A current 1s passed through an aqueous solution of NaCl for 10 mmutes. The
volume of 0.05 N H>SO4needed to neutralize the base 1s

0.804 A gD 10 davaren aréw NaCl zogrdte ot DoddY e Zdosd
BOVE0NITT)Y, ot L0ID0STPE0 (0 0.05 N HaS04 955080 ©9a)80e6?

Options :

25 mL
. ®

100 mL
2. ¢

~

T
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200 mL

50 mL

Question Number : 146 Question Id : 7196501586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If a catalyst drops the activation energy of a reaction at 27 °C from 100 kJ/mol to

42.73 kJ/mol. The magnitude of the effect on forward and backward reaction 1s

27 °C 3¢ 2u8a3¥ 6@ )30850 e 450 100 kI/mol S0l 42.73 kJ/mol 50 ShodaSew
OB TP OO BETP WIZLR DOJIL DedPado

Options :

Both increases by 10" times

Do 8rw® 10" B DB

Both decreases by 10'° times

Ootid 87w 10" 0 5508

Both increases by 10° times

Ootid 8% 10° B0 B

Both decreases by 10’ times

Ootid 8T 107 B0 5508

Question Number : 147 Question Id : 7196501587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following graphs is correct for chemisorption?

GFODS BEFEs0 V5B St §obd POOLS’ O HOGHIE ?

Options :
3 &
|, #
X/m
T
2. ¢
-~ (\F
3. % I
— \
4, % T

~

T
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Question Number : 148 Question Id : 7196501588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which one 1in the following statements is “not correct” about refining of ores?

TPV (o0& WIeRL) 3'GS0 (refining) $rdy Sobd e oy TPRg “DOGIG 5260 ?

Options :

In poling, impurities are removed as gases

Do) S SPOToZLN TPONHLVTP JEODES oW

Distillation process is used for low boiling metals

2380 DEOKH BOYETRYESS PO K50 STFODH FotSTrdS SHOIFHIEROE

Liquation 1s employed for high melting metals

BHODE D058 BeaoS) BB HIASSS PSo SO EHAIPHFE)

Zirconium 1s refined by using vapour phase refining

%5&5)0&30& WKJCD a“cﬁ{.} 3 Dedo @rLo° ‘ﬁ)@ J}_:fm

Question Number : 149 Question Id : 7196501589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Oxiadising power increases from left to right in the order.

o)(fnc:i) Dot ﬁ)@é ﬁéﬁ(‘jea 53”53)?80 ;Jﬁﬁ éﬁ)u

Options :

Ch<Bnmn<h<F>

~

T

collegedunia:s

India’s largest Student Review Platform



L<F<Clh<Brn

L<Brn<Ch<F;

4.

Question Number : 150 Question Id : 7196501590 Question Type : MCQ Option Shuffling : Yes Display Question Number
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not formed during the hydrolysis (partial / full) of XeFs?

XeFs & 20 306 (380 /3080) BOSLYE §obd TS DGR Do

Options :

Xenon trioxide

0P 9e5 G

Xenon tetrafluoride

0S5 SErRs

Xenon dioxyfluoride
O Ges rocs

[~
®

Xenon oxyfluoride

0O @8 Y0

: Yes Is Question

Question Number : 151 Question Id : 7196501591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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In which of the following divalent transition metal 1ons have positive standard reduction

potential at 298 K?

298 K &8¢ Sobd 353G N &§0001re2E D0SGS rewde (divalent transition metal) G
050788 WIS G SFEIODNS ) WrdQed.

Options :
Mn*"(aq) + 26" ——=Mn (s)

Mn*" (222) + 2" ——Mn ()

1. ®
Fe* (aq) + 2¢" ——Fe (s)
Fe™ (220)+ 2" ——Fe ()
2R
Ni*“(aq) + 2" —=Ni (s)
Ni"* (z0)+ 26 —=—=Ni ()
3. %
Cu™"(aq) + 2" ——=Cu (s)
Cu™ (220)+ 2e” ——=Cu ()
4. <

Question Number : 152 Question Id : 7196501592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many unpaired electrons are there i a strong field octahedral complex of
iron (II)?

200D £ w57rES 06 (1) 0TS0t 0IR), 2otdd WISFINL Gobeow?

Options :

0

~

T
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2
3, %

A4
4 %

Question Number : 153 Question Id : 7196501593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the polymers 1s made up of using two different monomer units. in which both

the monomers contains amine and carboxyl functional groups?

S0l TPRS o) FPOSE Dol a3, 350 IPSTSE OHrAILES® BHOIPE DO,
2000 & Tolsd) adPed oOLES” 900 OOSW Sﬁmaéheﬁ 00K DSAFIFLN GolIPow?
Options :

Nyvlon 6. 6
SR 6, 6

Nylon 6
SR 6

Nylon 2-nylon 6

S 2 -3 6

3¢

Melamine

SVPRMS

Question Number : 154 Question Id : 7196501594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Match the following

9 0 VIV
List -1 List-1II
GO —1 360 - 1T
A) Adenine I)
SIEN'S
B) Guanine 1)
PIS NH,
- il I N
I\ |
- -
N
C) Thymine I17)
HODNR 0
B N
L)
N NOH
D) Cytosine IV)
TR NH,
=
Ay
N
H

The correct match 1s

DOG 2389

Options :
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I I IV II
| ®

A B L D

IV III I I1
2. »

A B C D

II I II1 IV
3, %

A B & D

IT III I IV
4.

Question Number : 155 Question Id : 7196501595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

A) Morphine

B) Saacharin

C) Ranitidine

2390050
A) 5639
B) 568
C) BRES

The correct match 1s

DO 23¢9
Options :

A B

II 111
1. ®

A B

II I
2. ¢

A B

IV I
3. %

A B

IT IV
4 %

HT

I11

I)

II)

1II)

IV)

I)

II)
I1I)

IV)

Sweetening agent
Analgesic

Disimfectant

Antacid

ZISO) DY

S0 VEEZo(IT7525)

S0 Do*OEEN

(OVLA ST
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Question Number : 156 Question Id : 7196501596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Iodoform is obtained on heating the reaction of I, and NaOH with

I, 50050 NaOH e JEI0S Y §obd o) 0y ¥o OAFETED 85 B006?

Options :
Methanol
QSO

n-Propanol
n-FHSS

Benzyl alcohol
BP0 WL IS

Ethanol
BDSS

R 4

Question Number : 157 Question Id : 7196501597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following does not form mtra-molecular hydrogen bonding?
800 FPUS" 2B BEIFBS TPED Woldordd BYBIO?
Options :
OH o

CH;
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OH

o0~ “CHa,
I 4

OH O
3w
OH
f CO,H
4 %

Question Number : 158 Question Id : 7196501598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1| Wrong Marks :

Which of the following would give iodoform test?

800 P’ 28 STPEFER DOXDH HFDb?

iy i H 1 cn s 0
O)\Cﬂi Q{?\/KCHS U\/ CHJ cz—ls

(1) (1) (111) (1v) (v)
Options :
(1) and (11)
(i) o005 (ii)
. ®
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(111) and (1v)
(111) 0030 (1v)

i
&

(1) and (V)

(1) OOk (V)
3. ¢

(1v) and (V)
(1v) 200w (V)

Question Number : 159 Question Id : 7196501599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product of the following reaction sequence is

&8 §o BFONS G5 2B 250y, 35 TNoeS” 2IBYB DI0TSo

O
||
H,C-CH,-C-Cl (CHy),Cd |
Options :
CH,CH,CdCH;
| #
CH,CH,CHOH(CH,),
CH,CH,COCH;
3.¢
CH3CH2COOCH3
4 ®

Question Number : 160 Question Id : 7196501600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0
What are P and Q in the following reactions?

800 SFOLS Sz’ P 10050 Q €0 7?7

0 (1) KOH (alc.) (esey 5405)

NH (i) O/\Br. DMF
i > P+Q

(iiii) aq.NaOH | dil. HC1, A
=0

abis

Options :
E Q
Benzylamine Phthalimide
30BN ODE
]. ®
P Q
Aniline Phthalic anhydride
AN *O8 0d TGE9G
2 ®
P Q
N. N-Dibenzyl amine Phthalic acid
N, N-Ge3eZ S0 PO8 @00
3 R
P Q
Benzylamine Phthalic acid
RISV TPOS G0
4.

~

T
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